HEEIbEAN BHELS

(B) wH284H1H

B_sEHE—HI (BT
N UVE SE R I s

(£) HHI3E3H31H

=556 UIEER)

(B : F9)
BENE LERERE(A) B ERE(B) 1EE(A)-(B)

RBE BRI 75, 474. 510 65, 629, 850 9, 844, 660

R IEE RN 0 0 0

e rEsains 60, 000 0 60, 000

| R E MBI 0 0 0

Y| |[2ofbouRz 0 233, 403 -233, 403
| | [p—ExEshNzsst (1) 75, 534, 510 65, 863, 253 9,671, 257
el [AE 55, 747, 927 52,890, 466 2,857, 461
2| |Ex= 9, 474, 007 9,681,615 -207, 608
x| |EBE 5,723,702 2,589, 270 3,134, 432
g| |[HOEBRER 0 0 0
|, |FEBEE 0 0 0
B B |5 pREalnEgE 0 0 0
R B[ ri e 8,599, 853 8. 230, 524 369, 329
D|  |EEHSSSRIETISEEE -6, 810, 584 —6, 810, 584 0
| |MuUNREERE 0 0 0
Ve BT N 0 0 0
ZOthOE 0 0 0
H-PEBEAS (2) 72, 734, 905 66, 581, 291 6. 153, 614
H—CEENERESE (3) = (1) — (2) 2.799, 605 —718, 038 3,517, 643
BADF S B DUNZS 0 0 0
SEGF B AL S UNES 115 88 27

T R ity 0 0 0
Bl 55A2% 0 0 0
AR T Ene = it 0 0 0
| | Z| I EEmsEss s 0 0 0
el |EAEhz 0 0 0
2| | ERETl 0 0 0
x| |2ofos —ERESIINGS 874,198 743, 925 130, 273
gy| | —CXEBIMRESET (4) 874, 313 744,013 130, 300
| [ERLFE 125, 840 148,720 —22.880
| |BMEESSEPAGE 0 0 0
= | GfiEEsssinE 0 0 0
P i 0 0 0
| o (1AM S7541R 0 0 0
28| 7 | R ABATE SIS 0 0 0
RVA= T i} 0 0 0
ZOMOY —EZESIE 0 0 0
H-PEBIERE (5) 125, 840 148, 720 ~22. 880
H—CEENIMNERESE (6) = (4) — (5) 748, 473 595, 203 153, 180
EEIEAERE (7) = (3) + (6) 3,548, 078 —122, 745 3. 670, 823
MR RSB S UNZS 1,670, 000 1,670, 000 0
MY RSB M R UNZS 0 0 0

| EEBEE AR EASTRERSH SN 0 0 0

| BT AR 0 0 0
EE RS A% 0 0 0

5 |zomoBiRs 0 0 0
Bl [#sBIRzsEt (8) 1,670, 000 1,670, 000 0
1B |[EALEAzE 0 0 0
H| | EEEE 0 0 0
o| |ExaEsiE-0sE 0 28, 949 ~28. 949
w| B|EEMES SRS EGE (Ri1%) 0 0 0
| BB & S S B T SR T 5 1,670,000 1,670, 000 0
PRE=1=LS 0 0 0
ZOMOIERIIE% 0 0 0
HSRIEAE (9) 1,670, 000 1,698, 949 ~28. 949
PRI ESE (10) = (8) — (9) 0 ~28. 949 28, 949
L EENERESE (11) = (7) + (10) 3,548, 078 ~151, 694 3,699, 772
¢ BRSNS EE (12) 12, 649, 801 11,161, 324 1,488, 477
B | SRR ENMERAESR (13) = (11) + (12) 16, 197, 879 11, 009, 630 5, 188, 249
w [EASHVAREE (14) 0 0 0
4 [ ZofhoiE TEEEESE (15) 0 0 0
# [ZfthOtET 875 (16) 0 0 0
o |RERMEICEENSRAESE (17) = (13) + (14) + (15) — (16) 16, 197, 879 11,009, 630 5,188, 249




